P5 Whole Nos_word problems 

Easy
	1
	Tickets to an amusement park cost $15 per adult and $8 per child.  Mr Lee bought tickets for 4 adults and 5 children.  How much did he spend altogether?
Ans: He spent $100 altogether.

	2
	Thomas bought a bed for $295. He also bought 2 mattresses at $65 each.  He paid the cashier a $500 note.  How much change did he receive?
Ans: He received $75.

	3
	An egg tray with 10 eggs weighs 435 g. The empty tray weighs 15 g. What is the average weight of an egg? 
Ans: The average weight of an egg is 42 g.

	4
	There are 18 clownfish and 3 times as many anemone fish in a fish tank. How many fish are there? 
Ans: There are 72 fish altogether.

	5
	There were 582 workers in a factory. The number of female workers was 90 more than the number of male workers.  How many male workers were there in the factory?
Ans: There were 246 male workers in the factory.

	6
	Mary and Ken shared 579 stamps between them.  Ken received twice as many stamps as Mary.  How many stamps did Ken receive?
Ans: Ken receives 386 stamps.

	7
	Su Lin has 274 marbles.  150 of them are blue, 70 are red and the rest are yellow.  How many more red marbles than yellow marbles are there?
Ans: There are 16 more red than yellow marbles.

	8
	There were 200 more boys than girls at a swimming pool. When another 50 girls entered the swimming pool, there were twice as boys as girls. How many boys were there at the swimming pool?
300 boys were at the swimming pool.


Average

	1
	Mr Lee paid $36 for 3 singlets and 2 T-shirts.  A T-shirt cost 3 times as much as a singlet. How much did Mr Lee pay for the 2 T-shirts?
Ans: Mr Lee paid $24 for the 2 T-shirts. 

	2
	A bottle of cooking oil cost $6 and a bottle of soya sauce cost $2.  After paying for 2 bottles of cooking oil and 6 bottles of soya sauce, Mrs Chan had $30 left.  How much money did she have at first?
Ans: Mrs Chan had $54 at first.

	3
	Anthony has 278 stamps.  Benjamin has 64 stamps more than Anthony.  Caleb and Benjamin have 500 stamps altogether.  How many stamps does Caleb have?
Ans: Caleb has 158 stamps.

	4
	Judy and Kelly each had an equal amount of money at first.  After Judy spent $18 and Kelly spent $25, Judy had twice as much as Kelly.  How much money did each have at first?
Ans: Each had $32 at first.

	5
	Aminah sold 3 oven toasters and 2 rice cookers for $310.  lf a rice cooker cost $20 less than an oven toaster, find the cost of a rice cooker.
Ans: The cost of the rice cooker was $50.

	6
	Tommy had $196 and Mary had $80 at first.  After Tommy had given Mary some of his money, both of them had an equal amount of money.  How much money had Tommy left?
Ans: Tom has $138 left.

	7
	Samy and Jason had an equal number of pens at first.  After Samy gave away 10 pens and Jason gave away 20 pens, Samy had twice as many as Jason.  How many pens did they have at first?
Ans: They had 60 pens at first.

	8
	Meiling has 4 times as many paper dolls as Lijuan.  How many paper dolls must Meiling give Lijuan so that each will have 30 paper dolls?
Ans: Meiling must give Lijuan 18 paper dolls. 


Challenging

	1
	287 marbles are put in boxes A and B. If there are 79 more marbles in Box B than in Box A, how many marbles are there in Box A?

Ans: There are 104 marbles in Box A. 

	2
	3 bags and 2 dresses cost $250.  A bag is $30 more than a dress.  How much does each dress cost?
Ans: Each dress costs $32.

	3 
	Ailing has $10 more than Betty. Betty has twice as much money as Cathy. If they have $135 altogether, how much does Ailing have?
Ans: Ailing has $60.

	4
	Ben has $33. Derek has $7 less than Ben. Derek has twice as much money as Farid. How much money do they have altogether?  

Ans: They have $72 altogether.

	5
	Mrs Wang bought 12 spoons and 10 forks.  Each spoon cost twice as much as each fork.  The total cost of a spoon and a fork was $6.  How much did Mrs Wang pay for the spoons and forks?
Ans: Mrs Wang paid $68 altogether.

	6
	Thomas and Ivan had $40 and $200 respectively.  They were each given an equal amount of money.  Then Ivan had twice as much money as Thomas.  How much money did each boy receive?
Ans: Each boy received $120.

	7
	There are 20 more apples than oranges in a box. Then another 5 oranges were put in the box, there are twice as many apples as oranges. How many apples are there in the box? 

 Ans: There are 30 apples in the box. 

	8
	Jimmy and Sandy spent a total of $110 on shopping.  Sandy and Royston spent a total of $50 on shopping.  If Jimmy spent 4 times as much money as Royston, how much money did Sandy spend?
Ans: Sandy spent $30.
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